COILS

Some articles suggest 4.6volt and others 8volt

My opinion is 4.6volt – have checked voltage after ballast and is around 4volt.

Inline ballast Resistor reduces 12v to 4.6v

Reason for lowering voltage to coil.

Coil is designed to give output of 20,000volts at the sparkplug.

In the compression chamber 14,000volts are needed to give adequate spark to ignite mixture.

Starter motor takes massive current from battery to turn engine

This leaves reduced voltage for coil.

Say, if a coil is designed to take 10volts

It converts 10v to 20,000volts

This is done by voltage traveling thru a fine wire coiled thousands of times around a soft iron core which produces an electro magnet and magnetic field.

When the points break the circuit to earth, this stops the 10v flow and the magnetic field collapses. This is instantly converted to the large 20,000v which travels thru heavier wiring via the distributor to the spark plug.  

With starter-motor engaged, there may only be 7volts available to flow to the coil, this will only produce 14,000volts.  Thus any extra resistance in either circuit can reduce the voltage so that the engine will not fire. Eg. Poor connections, corrosion, dirty commutator.
If you have a car that when winding over on the starter, only starts as you let off the starter button – this suggests there is extra resistance in the starter circuit and/or in the ignition circuit.

Royce’s solution was to use a low voltage coil with a ballast resistor.

Thus, if a coil is designed for 5v to give 20,000v output.

If only 8volts is available from battery to resistor, the resistor doesn’t reduce the output voltage by 8/12  which is 3.33v.  3.3v would produce 13200v – which is marginal.
Electricity is like water flowing in a pipe and the resistor is equal to a smaller diameter pipe,  

The resistor will marginally reduce the 8 volts down from 5v to say 4volts.  4volts into coil gives 16,000v out.

